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QUESTION 1

You have an OE_ACCESS_ORDERS_POLICY security policy implemented on the ORDERS table in the OE schema.
The user sessions are able to access only the desired rows. The database administrator (DBA) uses the following 

command: 

SQL> EXECUTE 

DBMS_RLS.ENABLE_POLICY(\\'OE\\',\\'ORDERS\\',\\'OE_ORDERS_ACCESS_POLICY\\',FALSE); 

Which statement is true about user sessions that are connected currently? 

A. The security policy remains in effect till the end of the current session. 

B. The subsequent queries on the ORDERS table produce an ORA-01031: insufficient privileges error. 

C. The subsequent queries on the ORDERS table within the current session are not controlled by the security policy. 

D. The subsequent queries on the ORDERS table produce an ORA-28112: failed to execute policy function error. 

Correct Answer: C 

 

 

QUESTION 2

You issue this command to create a table called LOB_STORE: 

CREATE TABLE lob_store 

(lob_id NUMBER(3), 

photo BLOB DEFAULT EMPTY_BLOB(), 

cv CLOB DEFAULT NULL, 

ext_file BFILE DEFAULT NULL) 

/ 

What is the outcome? 

A. The table is created successfully. 

B. It generates an error because DEFAULT cannot be set to EMPTY_BLOB() during table creation. 

C. It generates an error because DEFAULT cannot be set to null for a CLOB column during table creation. 

D. It generates an error because DEFAULT cannot be set to null for a BFILE column during table creation. 

Correct Answer: A 
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QUESTION 3

View the Exhibit to examine a Java source file. 

You have the corresponding Java class file and you execute the command as follows: 

SQL> CREATE OR REPLACE PROCEDURE ccformat 

(x IN OUT VARCHAR2) 

AS LANGUAGE JAVA 

NAME \\'FormatCreditCardNo.formatCard()\\'; 

Which statement is true about the command? 

A. It loads the Java class method into Oracle Database and publishes it. 

B. It publishes the Java class method, but the CCFORMAT PL/SQL procedure fails when it is executed. 

C. It creates the CCFORMAT PL/SQL subprogram without publishing, which can be used to invoke the Java class
method. 

D. It publishes the Java class method and the CCFORMAT PL/SQL procedure invokes the Java class method when it is
executed. 

Correct Answer: B 
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QUESTION 4

Which two types of query results cannot be stored in the query result cache? (Choose two.) 

A. subquery results 

B. results of a query having the SYSDATE function 

C. results of a query having the GROUP BY clause 

D. results of a query having the DATE data type in the WHERE clause 

Correct Answer: AB 

 

QUESTION 5

Which two types of query results cannot be stored in the query result cache? (Choose two.) 

A. subquery results 

B. results of a query having the SYSDATE function 

C. results of a query having the GROUP BY clause 

D. results of a query having the DATE data type in the WHERE clause 

Correct Answer: AB 
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